FeFD R CRAREE SRR 2RFE L RE

KR F RS RE Y (-1

4

A
e £3E 3 100%
(

T BIE PR ER

=
e

UGS A GEED R 37 (E A 5

-

>~
4ok

B
)
(&

S
ey
«)70
Cok [Tok TmiE ok

=
o
%

Ny
=

100%

-

It
>
%}
|
"
-k
\__

P
ﬁ
pIs
A
!
Ry
:;FI.
N
S

égﬁ—&giz

(B A ——ﬁgﬁ—ﬁeﬁg;—ﬁ; ; @&g—ﬁgﬁ-;{g‘ —g- AEERE BT )



iR

b=
L
N o
e

[
"
—~
o< &m
Ao
(il
M -1
¥

gy

=

w77,

af

o<
Mo

fm

sl

s

AL

EENC s 2L S

Tl

Bk

ok o o

>
\d

¢

Ak

CLES R AN S



FEEIE P WP

BRRELAP I N T RFERAPARER ZARRELNNF - FTET LA

ZREEEmDP o

FHAEP(* 2 B O B
I [ +%7 REF WD E GEAZIEAMF N AR o dow B
FETAPFEEY |10 GGFAAIEAM AR o wBHIH )Y %
DR BT T B AT T RIET
5 o
2 #ﬁ? R F WP GRRERF AR e R A R
SEHHRIYE | ) ERE CRREBE GRS MRE B S B
bﬁ%im%? %%‘%%‘%?%‘A%‘Ea‘ ok )~ EEWF R
ﬁ?\?%?\?ﬁ%\&%%ﬁﬁ~*wﬁ%g‘%ﬁ ¥
N
3| waY GIRER CBER CREE BRI T ER (0
‘_*Ar‘]*‘J-ﬁ: ‘5;7\§? z\ri@',;%_é\§lj)\%?\fi%?§o
R R e E
4 | HEE ﬁﬁﬁ+ AR R B R MR Tk
R E TR MR BESNERFF AR REEREE
o i e 14

iR p FEE wp % e 2l
1T (FarkE A
“E 3 ﬁ)' P 12,000/3 + x2000 = x2 = (i #r & 1 =)
1o 12, 000
58 | 2P G| 1,250]5% 48 5 % x250 &
‘?E_Er’,ﬁ,ll?i
-+ 5k 5=
S) 7, 750[s3+ 500 5 x15.5
KB 9,900[-
w6 1 12, 000\ i & o — 5
%* 30, 900
ENRT 12,900




